Classe 1 30

ita | imm [ mat |scienze | antrop ing [mus | mot [tecn | rel
Brizzi 7 2
ottaviano 8 1
Lomuscio 4 2] 1
MOT
Bruzzi
Classe 2 41

ita |imm [mat |scienze |antrop [ing mus |[mot |tecn | rel
X 10 1 1
Conte 10 2
Bruzzi 2
Lomuscio 4 1 2
Classe 3 31

ita |imm [mat |scienze |antrop [ing mus |[mot |tecn | rel
E 6 2 1 2] 1
Brizzi 7 1 4
SOSTEGNO
Bruzzi 2
Classe 4 31

ita_[imm |mat [scienze |antrop |ing mus |mot |tecn | rel
Bacchetti 7 1 4 1 1
Conte 6 2
dazzi K
Bruzzi 2
MOT 2
Classe 5 31

ita |imm [mat |scienze |antrop [ing mus |[mot | tecn | rel
ottaviano 1 6 2 1
dazzi K 7 3 1
Bruzzi 2
E 4
MOT 2
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copresenze
ore in classe
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22
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13
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2
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